S 6 EFEAFEOEFHM OBERE

¥ 8] F ®om g = N N lmy AT LR 17707 &
¥ OF ¥ O ¥ O ¥ O
% R 48 = 12 3 1] 2 3 1] 2 3 1] 2 3
R O—X O—X O—X J—X
_ EGIESE SIS SIS EGIES
H R O E : 2 2 2 2 2
EFE B ﬂ: 2 2 2 2 2
WO E 4 212 2 2|2 2 212 2 212 2
B B A 2 2 2 2 2
HEESL B £ K & 2 2 2 2 2 2 2 2 2
N N H 2 2 2 2 2
S I 3 3 3 3 3
#H % ® o F I 4 212 2 212 2 22 2 22 2
5 ¥ A 2 2 2 2 2
BlEe A\MEFE 2 2 2 2 2
B R Y B OE B 2 2 2 2 2
1t %= HE B 2 2 2 2 2 2 2 2 2
=| & 5 (7~81 21213 3121213 32213 312213 3
RBHS Il fiz 2 111 1] 1 1] 1 1)1
= 2 I 2 m2 P P m2
= iy ES ity I 2 m2 2 m2 m2
= fit Il 2 A2
TEEATaTh-Yay | 3 3 3 3 3
ZANES FEI -V |l 4 212 2 212 2 212 2 212 2
HE KRR 2 2 2 2 A2
ElNE X BE K B 2 2 2 2 2
S 15 R | 2 TEERBECRE
TR NE DB D 191513171915 13170191513 17J19[ 15[ 13 17
ERmrEm | 2~4] 3 3 3 3
B E M T 2~4 3 3 3 3 3 3 3 3
S Z | 6~12 3133 313 3 313 3 4155
& 2~8| 21212 2 2 212 212124 2
TEB®REE 2~4]3 3 2 2
oW I 2~8 312 3
¥ oW % 5 2~8|2|2]2 2 2
= E) o 2~4 2 2
£ E B i 2~6 2
BE®®EIZF 2~8 2| 2
B X B B 2~6 4| 4 3|3
T X % 2| 2~6 32 2 2
T % T H B T 2~6 2|4 4 2 2
T F OB T 2~6 2
BEFEREE  2~6 2
2 E E E | 2~6 3
2 O£ B T 2~6 2
2 OE £ B 2~4 2 2
% {8 F B | 2~6 2
ERAMEZE  2~8 3
BmE - BFKF® | 2~8 2 2
A7 V7% 2~6 2
A7) 7% 2~6 2
{/7UTIVAY MEEE | 2~6 2
FH A EHR  2~4 2
S MAN - N H OB Ol | 10] 14] 16 12] 10| 14| 16 12 10| 14| 16 12|10 14| 16 12
oo B 78 R 9% 0D B 1 ~3~6 B R CToR
= — L L — L & N T T
2 i 303030 3030|3030 30303030 30]30]30]30] 30
(1) BN 185 I LEemeg] orig
(2) [HENERERORBRE] 13 [FREAR] °RE
(3) 2ZFoHE (=] H»H 1EEZER
fir * (4) 3%Fna—REHA

FEo—X  HMRBERETSII—X
HEI1—X  HBERBERETSI—X
HEad— 2@4/7") BzArn 1R H % EIR




